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A. PHONETICS.
1. Put the stress of these words.
1.aquatic		2. mechanic		3. Scientific		4. Mechanical
5.magical		6.logic		7.identical		8.public		
9.plastic		10.political		11.politic		12. Electrical
13. romantic		14. Authentic	15.lyrical
2. Find the words that has different stress pattern in each line :
1.a.dramatic		b.rhythmic		c.angelic		d.romantic
2.a.affect		b.algae		c.billboard		d.cholera
3.a.political		b.electrical		c.identical		d.politic
4.a.aquatic		b.radiation		c.pollution		d.logical
5.a.industry		b. industrial		c. poison		d. poisonous
3. Complete the sentences, using the correct form of the verbs in brackets:
1. Waliking alone late at night can be (danger )……………..
2. The latest (edit )…………of this book contains many illustrative pictures.
3. Her younger sister can be (annoy )…………when she behave haughtily.
4. You must read the (instruct)………….carefully before you use the new oven.
5. It is always (interest )………….to watch the cubs at play.
6. My mother advised me to be careful in my ( choose )…………..of friends.
7. The ( hot )…………makes everybody very drowsy during the lesson in class.
8. The couple cames here at the special ( invite )…………of the prime minister.
3. Choose the correct answers :
1.Many species of wildlife are becoming extinct…………the rainforests are being
   destroyed.
a. therefore		b. since		c. consequently	d. so
2.Hemp can be used to make paper…………it could reduce the need for logging.
a. consequently	b. due to		c. so			d. since
3. ………..logging provides jobs and profits, the government is reluctant to control it.
a. so			b. consequently	c. since		d. due to
4.Hemp was grown throughout history……….its versatility, it can be used to make many different things.
a. due to		b. because		c. since		d. as a result
5.Hemp is related to the marijuana plant………it is illegal in many coutries.
a. so			b. due to		c.as a result		d. because
6.The pollutedchemical waste was dumped into the ocean………the mass of  fish died .
a. because		b. as			c. because of	d. consequently
7.It was guessed that the fish died……… a powerful toxin in the sea water.
a. because of	b. because		c. since		d. as a result
8.Many species in BC are threatent…………logging.
a. so			b. because		c. since		d. due to
4. Combine the sentences in each pair into a new sentences that shows a cause/effect relationship. Use cause and effect signal word or phrase given in brackets.
1.One effect of global warming is that sea levels are rising.The polar icecaps	 are melting. (because ).
2.The global population has increased. There are much better levels of nutrition (because of ).
3.Nuclear explosions and detonation of nuclear weapons cause radioactive pollution ( lead to )
4.More and more roads are being built.Air pollution is rising. ( as a consequence ).
5.In the last ten years, many BC valley have been clearcut. 142 species of salmon have become extinct. ( so )
6.The fish and other aquatic animals have died. The water is polluted. ( due to ) 
5. Put in the correct prepositions in the blanks:

	It is now almost certain that global warming has been directly caused (1)………man’s use of fossil fuels. This has led (2)……..an international debate about what we shoul do to reduce the negative effect (3)……….our actions and how we can make the planet safe for our children to live in. One consequence (4)……….this debate has been to improve the level of “green’’ education in schools and this should result (5)………..greater awareness of this difficult issue in the long term. However, in the short term there still remains much to be done.The reason (6)………..this is that we need to address cause (7)……….the immediate prolem.
6.Put the verbs in brackets into the correct form of conditional sentence type 1.
1.If people (pollute )…………the environment, a lot of animals (die)………..
2.If water (consist )…………..germs, people (get)………….. ill.
3.If the poles ( melt )………..huge landmasses (be )………….under water.
4.Mny precious animals (disappear )………if people ( cut down )………trees.
5.If nuclear waste ( throw )………..away, it (be )………..very dangerous.
6.We ( save )………….the trees If  we ( save ) …………..paper.
7.If school (teach ) …………..about environmental prolems, All students (know)………..how to protect the environment.
8.If the emission of CO2 ( continue )………..at night rate, the climate (destroy)………….
7. Put the verbs in brackets into the correct form of conditional sentenses type 2.
1. If (be)………..the president, I ( pass)…………harder regulation for using fertilizers in agriculture.
2. If ( be)………….you, I ( not eat )…………..that genetically modified potatoes.
3.If big corporation (care )…………..more about the environment and less about their own pockets, the pollution from factories ( not increase )…………so fast.
4.He (sort )…………his trash, if he (be ) …………….smart.
5. If the seas ( pollute )………..maybe the pollution of whales ( recover )………
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